
Subject: Re: [railML3] How to assign a mileage change to a netElement
Posted by christian.rahmig on Thu, 11 Nov 2021 13:47:09 GMT
View Forum Message <> Reply to Message

Dear all,

I concluded the discussion in our new railML ticketing system: you can find the problem
description and the solution proposal as Gitlab issue #478 [1].

The approach proposed by Heidrun allows for explicit modelling of gaps and overlaps. But what
about compressed and extended kilometers? Is there a need for modelling them with
<mileageChange> elements, too, or shall we remain with the <linearPositioningSystem / anchor>
solution?

Any comments are highly appreciated...

[1] https://development.railml.org/railml/version3/-/issues/478

Best regards
Christian
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